Ruby - Bug #3534

"Branch condition evaluates to a garbage value" in function 'swallow' of io.c

07/04/2010 11:50 AM - mame (Yusuke Endoh)

Status: Closed

Priority: Normal

Assignee: usa (Usaku NAKAMURA)

Target version:

ruby -v: ruby 1.9.3dev (2010-06-29 trunk 28465) |Backport:
[i1686-linux]

Description

=begin

goooo

Clang Static Analyzer 10000000io.c [ swallow 000
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2291 inti;

2292 if (needconv) {

2293 if (*p !=term) return TRUE;
2294 while (--i && *++p == term);
2295 }
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Yusuke Endoh mame@tsg.ne.jp

=end

History

#1 - 07/04/2010 05:17 PM - nobu (Nobuyoshi Nakada)
- Status changed from Open to Closed
- % Done changed from 0 to 100

=begin

This issue was solved with changeset r28537.
Yusuke, thank you for reporting this issue.

Your contribution to Ruby is greatly appreciated.
May Ruby be with you.

=end
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